Practice 05 Atomic models. Tex book pages 102 to 119
1. Use Dalton’s atomic theory to describe how atoms interact during a chemical reaction.

2. What experimental evidence did Thomson have for each statement: a) electrons have a negative charge b)Atoms of all elements contain electrons

3. Would you expect two electrons to attract or repel each other?

4. How do the charge and mass of a neutron compare to the charge and mass of a proton?

5. Why does it makes sense that if an atom loses electrons, it is left with a positive charge?

6. Describe the location of the electrons in Thomson’s “plum-pudding” model of the atom.

7. What characteristics of cathode rays led Thomson to conclude that the rays consisted of negatively charge particles?

8. How did the results of Rutherford’s gold-foil experiment differ from his expectations?
9. What is the charge, negative or positive, of the nucleus of every atom? Explain your answer.

10. In the Rutherford atomic model, which subatomic particles are located in the nucleus?
11. Why is the atom electrically neutral?

12. What does the atomic number of each atom represent?

13. How many protons are in the nuclei of the following atoms?
a. phosphorous (P)   b. molybdenum (Mo)  c. aluminum (Al) 
d. cadmium (Cd)    e. chromium (Cr)   f. lead (Pb) 

14. What is the difference between the mass number and the atomic number of an atom?

15. Name two ways that the isotopes of an element differ.
16. Lithium has two isotopes, lithium-6 ( atomic mass = 6.015, 7.5% of abundance) and lithium-7 9atomic mass = 7.016, abundance 92.5%). Calculate the atomic mass of lithium. Note: see sample problem 4.5 p119
17. How can there be more than 1000 different atoms when there are only 100 different elements?

18.  Complete the following table: (Note: see sample problem 4.2 page 114)

	Isotope symbol
	Mass number
	Number of protons
	Number of electrons
(neutral atom)

	14C
	
	
	

	Ne
	20
	
	10

	Al
	26
	13
	


19. If Isotopes are chemically alike, but physically different, propose which subatomic particles are responsible for determining an element’s chemical reactivity.

20. The four isotopes of lead are shown below, each with its percent by mass abundance and the composition of its nucleus. Using these date, calculate the approximate atomic mass of lead.
Note: see sample problem 4.5 p119

       1.4%                               22.1%                             24.1%                             52.4%
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